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f_‘_j_,_ 1. Assuming frictionless contacts, determine the magnitude of P for
equilibrium.
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P.2_ 2. Whatisthe relation among P, Qand 6 for equilibrium.
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3. 'The pressure p driving a piston of diameter 100 mm is 1 N/mm?. At the
configuration shown, what weight W will the system hold if friction is
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4. Find the force delivered at C in a horizontal direction to crush the rock pressure p; = 100 Mpa and p; = 60 Mpa (measured
P' L‘! aboveahnosphericpmsum).Thediamemafthepistmsa@lOOmmwch.Neglecttheweightofthcmds.
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